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(@) Solve Quodnaic Equadions by Fachorig
(3) Solwe Quadnahc

Root Prwr m‘a

() Solue Quadbidic Bouokions
Quadndbic Formulla

1) Def. of o qrendnobic acuuchon-

E.q.

‘?;L + 10 =0

La’du

A clmAneAiL chm‘\m .\A oan chraakcm. o£ +&g Aeuwu :

O-xz-}bl_g.f-?-o
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E_._%.. Solve 2 -3Fx + 10 =0

(x -5 )Xx -2)
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B\a tHhe e P"WCLM} Pm'.na‘)z:., we 2t cake

/guu\'l?b ec(v.nQ b o

x-5 =0 On x-2 =0

x =65 |x =2
Colhon et 'Sis,ll

Solbe : 4x* -2x = O

2 (22 1) =0 ( Faden)

Sat eadh fadﬂn ac'w.Q 4o Yoo -

L;T'l

2x = O oA 2x -4 =0
\x:O 2 =L—'|:L=i_‘
z.
Colukion et - {o,%}\

E_.%. Z:n.z ¥ Fx = 4
2% 4+ Fx - hzo ((Subbad 4 Jram loth

h;a\QI)- Ona l\'u.\._ mm‘\' Bﬂ.

?.no w@u We. AoQuQ.
fpdoning) ;

New Section 1 Page 2



Thursday, January 16, 2020 9:56 AM

('Zx-i)(x + 4) =0 (Fa.dha)
Set eake 20«)‘3 az‘vm.q O

21"’{. =0 ONn 1‘\"&:0
x:.‘-_l X = -4
2-
1
gOQAA:LOV\ pe&' : i%,-qk

I:.ra. 23+ x = 1

22 + x -1 =0 (R;?E&A;quO)
(2 - ) + 1) =0 (Fachn)
Sat eadh fuchn el + O

2x -4 =0 on x4+ 4 =-0O

x = 1 . x = -1

2 ' -
g‘bau)l\.m/\dt L—,‘L}
2
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@ Solve c‘MAM}'Q lcl-nm.l'-ovw ka A e Ay wore noot
‘)”"MLA -l-n..&n. Actwma nodt o£ \m‘w- /';-JM

T

E_.-a_. 12:4 —® X = iJZ =i2
].-m %OAHARQ 3 +2|.l Aclu.aum. ’\oo'\" I)norm\% hk\() “"c\n} ;-2

U wv on ztfnLAbCun O-Nl tl v o nu.m.\:u\ me! we

bove u* = d

Then - uz=Vd on wu=-Vd

We cam wrde thin n an lz.;Iw',v‘Q_.,.} ey
\u‘:o\ —> u = +Vd

=

E-_a_ Colva C{vm.Anq.lu o) L)a +0e Aclvona. rodt

j[boao.‘}a. 21 3% - iS5 (AJJ 16 b \»’&Aw‘u)
x* = 5 (D{.vi(la. botl niden \-a 3)
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By the nquare noot propurty , we talle Aquane
neot o both ndun.
x = £V{5

Solukion nd: |{(E, V5]

Note : Boﬁm qou can A.PPQB Hhe Sqaane. Root
PM?U‘“& y O unma u‘:mnm.m Mmust be \'AOQJICJ

on  onfk /h)l&'l’ﬂ& v.c'-.m!\an
Ez@ S5x* - 45 = O

— §x? - 45 —’x’:ﬁ

Solubion et - {3,-3_}
E-—a;@ (X-i)z-gi =0

(x -1)1 = 84

x -1 = '_"(8_1. -9
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x-41 =49 on -1 =-9

Ix = Lo| . \i; -gJ

Solkon et : \ﬁ 10, -&}_\

EE® (’2% +3Y‘ -+ =0

@x-\-?:\)l = 7‘
Ba, Sa‘v.a-’\a— an“’ PNTuJ'a
2y +3 = ’-"-ﬁ
2% = -3 {3
v = —3xF
2

goQu.kon et §'3+ﬁ ) -3’5:}
2 2
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(1) Solve Quadndsc cquabiorn by wning Hx

OJ-‘-"-JNI}\L Fonwmﬂn, .

Tﬂ\u AO&C‘\.OM OK o clmdhul'& Q:I-wJ(on
ox” 4+ bx + ¢ =0, ag0O Win a
e by ondnabe
ane %,,w.n X ‘ (1 n
. = —B‘LJBI-‘ML &.“m&
Za

Ez. Sonc. ‘l'zn QTNJ‘l'on.
6%2 - ‘.;x - l! =0

a = b 5 --5 ; c=-4
L= = (=5) £ (-5)-4-(6)-(-4)
2-(6)
- s + 121 _ 5+141)
12 - 12
¥ = S 444 5 X = 6-414
12 12
X '—'16——-_" ) *::—6—-;—
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bt |18 -4 1]

lﬁ gon&:zxz-éx-l- { -0

a=2 : b==-6, = 1
_—(-6) N (-6Y - 4 () (D)

2(7-)
L 6+st + {47
l 4
St:mPQ-.xa
« - b¥Vaix ¢ 12l
4 4
L. 23rE) _ 3.03%
%2 2

New Section 1 Page 8



